

$$ma = -cV^2$$

$$m \frac{dv}{dt} = -cV^2$$

$$m dv = -cV^2 dt$$

$$dv = \frac{-cV^2 dt}{m}$$

$$\frac{dv}{V^2} = -\frac{c dt}{m}$$

$$\int \frac{dv}{V^2} = -\frac{c}{m} \int dt$$

$$= -\frac{1}{V} = -\frac{c}{m} t + C$$

If  $V = V_0$

and  
 $t = 0$

$$-\frac{1}{V_0} = \frac{C}{m} + C$$

$$-\frac{1}{V_0} = C$$

$$-\frac{1}{V_0} = -\frac{c}{m} t + \left(-\frac{1}{V_0}\right)$$

$$-\frac{1}{V} = -\frac{1}{V_0} \left(\frac{cV_0 t}{m} + 1\right)$$

$$\frac{1}{V} = \frac{1}{V_0} \left(\frac{cV_0 t}{m} + 1\right)$$

$$V = \frac{V_0}{\left(\frac{cV_0 t}{m} + 1\right)}$$

$$\tau = \frac{m}{cV_0}$$

$$\rightarrow V = \frac{V_0}{\left(\frac{t}{\tau} + 1\right)}$$

$$P(t) = \int \frac{V_0}{\frac{t}{\tau} + 1} dt \quad dv = \frac{d}{dt} \left[ \frac{t}{\tau} + 1 \right]$$

$$u = \frac{t}{\tau} + 1 \quad du = \frac{1}{\tau} dt$$

$$P(t) = V_0 \int \frac{1}{u} du$$

$$du = \frac{1}{\tau} dt$$

$$P(t) = V_0 \ln(u)$$

$$dt = du \tau$$

$$P(t) = V_0 \tau \ln\left(\frac{t}{\tau} + 1\right) + C$$